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Question No. 1

ar TR gt AT HY FT AT 35 Bl GH Wil g, Seehl A F AT 2: 1 ATl Sefehr FciATT
3R = 47

A) 10,25 B) 20,15

C) 28,7 D) 30,5

The sum of the ages of two cousins is 35. Ten years ago, the ratio of their ages was 2 : 1. What
are their present ages?

A) 10, 25 B) 20,15
C) 28,7 D) 30,5
Answer Key : B Your Response : B (Correct)

Question No. 2

AT IR S & § 9¢ AR A Qe 31w wee &1 3w &

IRIHT & IS FUI Th FealhR Aol & °RT AR &g A AR g = IS §, AT S& 7
& 8@ PF # gl RN FeaeT A F FodaeT F T W T T | IS § s
Fodd A SIS & FodeT & dT Fad o AT 8 &1 7 ar oy Foae A T 8
AECSIST & HAlT, HARAT Fedlel & Ahedd JSIHT &1 SA0T NPT & FedeT 598 & FHodle
¥ g% I g T W IS §1 o5 & 9 AR Foa & fAdcand BT @ §
el Fode AR Foat & T 3 I | W 85§l Tieeae 3R ~gEies &
Fdlel [Adedd TSI STET &1 TThEdeT & FTdll 53015 & Hodled & a8 AN RN TAT W 8
gl




fFe=faf@a & & Fi9 a1 Foaa HRT 3K 3w 859 F FoasT & &F Gig 7 Jor g2
A) TIfeEarT B) sireler
C) &f&ror 3nfrer D) 3fresforar

Read the following information carefully and answer the question given below.

Eight captains of different cricket teams—Australia, New Zealand, India, Pakistan, Sri Lanka,
England, West Indies and South Africa are sitting around a circular table and are facing the
centre, but not necessarily in the same order. Indian captain sits third to the left of the Sri
Lankan captain. Only two people sit between the Australian captain and West Indies captain.
Neither the Australian captain nor West Indies captain is an immediate neighbour of the Indian
captain. The captain of South Africa sits second to the right of the England captain. England
captain is not an immediate neighbour of the Indian captain. The Australian captain sits third to
the left of the Indian captain. Captains of Pakistan and New Zealand are not immediate
neighbours. Pakistan captain sits third to the left of the England captain.

Which of the following captains sits exactly between the captain of India and West Indies?

A) Pakistan B) SriLanka
C) South Africa D) Australia
Answer Key : A Your Response : A (Correct)

Question No. 3

ar a3t # F TFH 1 GeFA QN[ &1 S 9T Akl SRt & T e arer JBcarhyor gof A

T IRade g &7

A) T ScaTh¥ur aef TR 18I AT | B) T Tcalhy¥uT &l grorl gl Sdl gl

C) T ZcdrehyuT &l otef T ScdThYUT dof T & ST ¢
SIS D) T

What happens to the force of gravitation between two objects when the mass of one object is
doubled?



A) The force of gravitation is four times B) The force of gravitation is doubled

C) The force of gravitation is tripled D) The force of gravitation is halved



Answer Key : B Your Response : B (Correct)

Question No. 4

Wiel AT WeT AF W YT §1 3T A, WiaTl & aRwd7r & yd §1 ar@st 4@, 3T qW
F qF H § AT WiaT MWW F aRaA 7 BT §1 FoeT AW, A9 AW F @ H § AT
ArE@eT AR IFA AT F IRIH F YT gl IR T T o & T #A§, O FlAT - aww g
gfRasd 7 U g2

A) 3fHIH B) HIdHA

C) Wial D) Sust

The town of Paranda is located on Green lake. The town of Akram is to the west of Paranda.
Tokhada is to the east of Akram but to the west of Paranda. Kokran is east of Bopri but west of
Tokhada and Akram. If they are all in the same district, which town is the farthest west?

A) Akram B) Kokran
C) Paranda D) Bopri
Answer Key : D Your Response : D (Correct)

Question No. 5

et T Ao A RT AT Foy B T A F QO FEm?
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A) BT B) s¢

C) dHSI D) 3a&h

Which word will best complete the relationship given below?

Oil : Seed :: Metal : ?
A) Paper B) Brick
C) Leather D) Ore

Answer Key : D Your Response : D (Correct)



Question No. 6

200 #r 3R 150 #Y ot ar o FAer: 40 FravEer 3R 45 FraEer fr o ¥ FAEGR geit
W I W 8l A T FAT R & g7 W &, d § U gEY A el §7T & 9 FHE1?

A 132358 B) 723%' &
C) 2524%° S D) 1929%" 8

Two trains 200 m and 150 m long are running on parallel rails at the rates of 40 km/h and 45
km/h respectively. In how much time will they cross each other if they are running in the same

direction?
A) 132 seconds B) 72 seconds
C) 252 seconds D) 192 seconds
Answer Key : C Your Response : C (Correct)

Question No. 7

T o giaeafe oot & fow, o e 3R gfdeafy & 99 fhaa ~eiad 79 3eRTer
3TerRIRT el 872

A) 0.49HS B) 0.1 ¥&bs
C) 0.29%s D) 0.01 Jhs

To hear a distinct echo, what is the minimum time interval required between the original sound
and the echo?

A) 0.4 second B) 0.1 second
C) 0.2 second D) 0.01 second
Answer Key : B Your Response : Not Answered

Question No. 8

T & AT art & feafeamr & HNOT g gl
A) I HST Uade B) YR & IRIGc
C) YT F FehruTer D) wehrer & gRargor

Twinkling of stars at night happens due to-



A) Atmospheric refraction B) Reflection of light
C) Scattering of light D) Dispersion of light

Answer Key : A Your Response : C (Wrong)

Question No. 9

fra o & ey FIfdE W wafew aRE R P ST e R it dffeera &
AT ham?

A) ST B) sIufdrm
C) gwdus D) wid

Which country awarded Shri.Ram Nath Kovind with the highest civilian award the "Grand Order
of the King of Tomislav"?

A) Germany B) Croatia
C) England D) France
Answer Key : B Your Response : Not Answered

Question No. 10

T FHA H H A P, Q, R AN S &1 F &A@ & IJaid 2: 3: 5: 4 & fFdr a7 & fow
fem arr oRAfAe $.4200 1 8 I saer Ui e 3 frast afr feie?

A) R, 2.1500 B) P, ©.2000

C) S, %1600 D) R, ¥.2000

Efficiencies of P, Q, R and S in doing a job are in the ratio 2 : 3 : 5 : 4. The wages paid for the
job are Rs.4200. Who is paid the largest amount and how much is paid?

A) R, Rs.1500 B) P, Rs.2000
C) S, Rs.1600 D) R, Rs.2000
Answer Key : A Your Response : A (Correct)

Question No. 11

ar WE-3ATST HEAIHT T IS 117 1 39 HCF AT S|



A) 1 B) 7

C) 117 D) 13

The product of two co-prime numbers is 117. Find their HCF.

A) 1 B) 7
C) 117 D) 13
Answer Key : A Your Response : C (Wrong)

Question No. 12

T gF #r 3R AHE Y gu ¥ AR I, T B IR AE R gT e SR Tear B I e 3R
A &1 W 3w e o #r AR ey R g &2

A) afaor B) afator gigg#
C) af&r ug D) Uq

Ram is facing towards east and Ravi is facing Ram and walking towards him. Ravi takes a left
turn. Which direction is Ravi facing now?

A) South B) South west
C) South east D) East
Answer Key : A Your Response : A (Correct)

Question No. 13

ffaf@d SEHRT #r & § 9¢ 3R AT BT 31T 99 & 3ca¥ &

A, B, C, D EF G3RHUF gd & °IRf 3R &g & 3R Fg =5 35 §1 B, F & 2% 3R
I | W AR H & T 3N Y &E W daT 1 C, A & 918 3R =9 Va1 W/ a7 Bl A,
F 3R B & faseas qsidt o6t 81 E, B &I fasheas Isir o8 81 G, D & a8 3N gy ¥l
W daT B

H & THeH e 3 FiT Sor g7

A) F B) E



C) G D) A

Read the following information carefully and answer the question given below.

A, B, C,D, E, F, G and H are sitting around a circle facing the center. B is third to the right of F
and third to the left of H. C is fourth to the left of A. A is not an immediate neighbour of F and B.

E is not an immediate neighbour of B. G is second to the right of D.

Who is to the immediate right of H?

A) F B) E
C) G D) A
Answer Key : B Your Response : B (Correct)

Question No. 14

AT T & e of S arelr 3K Aol S arelr gar hr AT S FAT FHgr S dar 82
A) G &H A B) 3rafse A

C) JIUMYR &THdT D) SaOR™T 3adeT

The amount of air inspired and expired during normal respiration is known as-

A) Minute volume B) Residual volume
C) Vital capacity D) Tidal volume
Answer Key : D Your Response : C (Wrong)

Question No. 15

few v Reredt 7 &/ 38T FF A




C) D)

Find the ODD one out from the given options. MyE ducationWire
A) B)
Q) — D)
%S
Answer Key : C Your Response : C (Correct)

Question No. 16

gfe 10.98 x 10.98 + 10.98K + 0.02 x 0.02 T ‘{Cﬁ' T &, ar 'K 1 AT AT W
A) 0.2 B) 0.04

C) 0.02 D) 0.4

If 10.98 x 10.98 + 10.98K + 0.02 x 0.02 is a perfect square, then find the value of 'K'.



A) 0.2 B) 0.04
C) 0.02 D) 0.4

Answer Key : B Your Response : B (Correct)

Question No. 17

8 7 SR 3 Ry et 2
A) 21 B)
34
© D) 26
30

How many triangles are there in the given figure?




34

Q) D)

30

Answer Key : C Your Response : C (Correct)

Question No. 18

fRu arv fawedt F ¥ T @ T
A) ETN B) DRM
C) GQ D) HTI

Find the ODD one out from the given options.

A) ETN B) DRM
C) GQl D) HTI
Answer Key : D Your Response : A (Wrong)

Question No. 19

R T Reredt 3 ¥ 3T F T
A) 144 B) 324
C) 290 D) 100

Find the ODD one out from the given options.

A) 144 B) 324
C) 290 D) 100
Answer Key : C Your Response : C (Correct)

Question No. 20




Ifg Ry 3ecer gUor Y gear BT 24 ¥ B, O sEE BiEE g A Hifawl
A) 24Tl B) 48Ut
C) 1494t D) 12Tl

If the radius of curvature of a convex mirror is 24 cm, what is its focal length?

A) 24 cm B) 48 cm
C) 14cm D) 12 cm
Answer Key : D Your Response : D (Correct)

Question No. 21

ARG & el To7 & Toaare #r g F T T S B

A) 9= ag B) dieT a¥
C) ar a¥ D) & a¥
The governor of a state of India is appointed for a term of- MyEducationWi re
A) Five years B) Three years
C) Two years D) Six years
Answer Key : A Your Response : A (Correct)

Question No. 22

Aofy Fr qut &

167, 334, 668, 1336, (..)
A) 2681 B) 2661

Q) 2672 D) 2653

Complete the series.



167, 334, 668, 1336, (...)

A) 2681 B) 2661
C) 2672 D) 2653
Answer Key : C Your Response : C (Correct)

Question No. 23

qielt 3 AT T AT FaET § gl
A) hEFerS B) Tl
C) drerrerar D) gshiat

The common transport form of sugar in plants is-

A) Fructose B) Glucose
C) Galactose D) Sucrose
Answer Key : D Your Response : A (Wrong)

Question No. 24

ferfaf@a & & fFaet Reafde-A g9t @@ # 9rr s 82

A) Td B) ToR

C) I D) THICR

Which of the following is/are rich in vitamin-A?

A) Apple B) Carrot
C) Oranges D) Tomato
Answer Key : B Your Response : B (Correct)

Question No. 25




30 @FeT & 999 F, A HFHd H T F [REd (?) F F W @
o= & T wEfcasw sug#Fa &

15 18 21
90 | 75 108 | 90 ? | 105
A B
) ) 126
108
© °) 136
84

Choose the alternative that best replaces the question mark(?) in the

given figure.
15 18 21
90 | 75 108 | 90 ? 105
A B
) : 126
108
© D 136

84



Answer Key : B Your Response : B (Correct)

Question No. 26

T AT Teile d 9RT 3R T 2 Hie disr IFar S91-r ST gl Solie &7 89%a 96 97 #Hiex
g1 f#or Sy w50 9ir @@t #Hiex B1 AT dr For eI AT F

A) 22T AT B) ¥.2400

C) %.4000 D) %.4800

A 2 m broad pathway is to be constructed around a rectangular plot on the inside. The area of
the plot is 96 m2 The rate of construction is Rs.50 per m2 Find the total cost of the
construction.

A) Data Inadequate B) Rs.2400
C) Rs.4000 D) Rs.4800
Answer Key : A Your Response : A (Correct)

Question No. 27

ofeT FEm3it @ AT 100 ¥l wgelr AR qEd HEAr # IEuE 4 0 9 ¥ 3R qud R had e
T 3T 3 : 4 §1 gEY HEAT qar H

A) 36 B) 24

C) 30 D) 28

The sum of three numbers is 100. The ratio of the first number to the second numberis 4 : 9
and the ratio of the second to the third number is 3 : 4. Find the second number.

A) 36 B) 24
C) 30 D) 28
Answer Key : A Your Response : A (Correct)

Question No. 28

Tk FHAIOT T &, et wagaa 1148 8 A
cos A cos B - sin A sin B &T AT AT SifaT]



C) D)

bo | =
ol -

In a right triangle, the sides areintheratio 1: 1: 2 .

Find cos Acos B - sin A sin B.

A) B)
1 0
) D)
1
1/2 ﬁ
Answer Key : B Your Response : B (Correct)

Question No. 29

W AT ,J0.01+4/0.0225



0.4 4

Q) D)

0.04 16

Simplify: /0.01+0.0225
MyEducationWire

A) B)

0.4 4
)

0.04 D) 16

Answer Key : A Your Response : A (Correct)

Question No. 30

e fAfRad U W 10 a¥ & a1 WURT sATer %.600 g 8, IfE Aerwe 5 af ag e @ @
ST &, &9 a¥ & 3d # Fo sareT T grame

A) %.1200 B) 2.900

C) %.1500 D) %.600

The Simple Interest after 10 years at some rate will be Rs.600 on a certain sum. If the principal



is trebled after 5 years, what will be the total interest at the end of tenth year?

A) Rs.1200 B) Rs.900
C) Rs.1500 D) Rs.600
Answer Key : A Your Response : A (Correct)

Question No. 31

AT gebe & Ty AR Fe W INTHT FoRrss, IRFT gehe iR 3mHET FarEs
g1 g1 Afaf@d 7 O *la a1 sud afAa 3R F gmR Fr TEY ST F UFT /T &7

A) 3TerETeRToT ATRTRT B) 3ragiqur fRfwRar
C) EareweT 3rffran D) cgeT 3fafshar

Barium chloride on reacting with ammonium sulphate forms barium sulphate and ammonium
chloride. Which of the following CORRECTLY represents the type of reaction involved?

A) Oxidation reaction B) Precipitation reaction
C) Combination reaction D) Combustion reaction
Answer Key : B Your Response : Not Answered

Question No. 32

s e @ fefaf@a 7 ¥ e = & war @ 2
A) s afg 3R g afT gt B) Y Iai
C) gHadr @yl D) T=a |y

In which of the following lists is Economic planning placed?

A) Both State list and Union list B) Union list
C) Concurrent list D) State list
Answer Key : C Your Response : C (Correct)

Question No. 33

freafaf@a & & Fla @1 T (quinine) FT TF T 82
A) EFIH B) ARl




C) = D) &9

Which of the following is a source for quinine?

A) Teak B) Cinchona
C) Neem D) Bamboo
Answer Key : B Your Response : B (Correct)

Question No. 34

IANST ARG ABHA heod * fav ufag &l
A) ggHAIRT B) oRrehr
C) drer afee D) SAFT

Michael Phelps of US is famous for-

A) Horse riding B) Swimming
C) Pole vault D) High jump
Answer Key : B Your Response : B (Correct)

Question No. 35

fSesic frd wrgT STTaT 872
A) Tgs egd areT B) H.gUE ;A
C) PORIME ;7 D) wFrafferer Hg

How are detergents called?

A) Soapless soaps B) Soft soaps
C) Hard soaps D) Carbolic soaps
Answer Key : A Your Response : Not Answered

Question No. 36
ﬁmﬁf@aﬁ#ﬁm@ﬂ@rmwﬁ@
A) Pesid B) far




C) ®assr D) fohehe

~

Which of the following sports originated in India?

A) Football B) Tennis
C) Kabaddi D) Cricket
Answer Key : C Your Response : C (Correct)

Question No. 37

U qfFd o T Iglel & U dlell go1$ 3R 38 4 FFs & a1g wiaeafy goars & eafa & e
344 m/s @7 W AfFT @ =g I g AT HfIT

A) 3447 B) 600 %

C) 3004 D) 6887

A person clapped his hands near a cliff and heard the echo after 4 seconds. What is the
distance of the cliff from the person when the speed of the sound is 344 m/s?

A) 344 m B) 600 m
C) 300 m D) 688 m
Answer Key : D Your Response : D (Correct)

Question No. 38

e avg #1 fohT e A fAfGT, I gFEeR 30 3ifhd e . 80 W 5% I & HARIT
< AT &

A) ¥. 72.20 B) %. 73

C) % 72 D) % 70.10

Find the selling price of an article, if a shopkeeper allows two successive discounts of 5% each
on the marked price of Rs.80.

A) Rs.72.20 B) Rs.73

C) Rs.72 D) Rs.70.10

Answer Key : A Your Response : A (Correct)






A) 8 B) 6
C) 3 D) 2

Answer Key : B Your Response : B (Correct)

Question No. 42

g A IS AUIRT A, 9l & A firogersat, aifedt, gegfedt, feeder nfe @ gar
T & T hg depeiteh &1 39T fRar STaT §7

A) tafal 3raenvor(Sound absorption) B) 3fasew &af(Infrasound)

C) SONAR D) MRI

Which technique is used to determine the depth of the sea, locate the underwater hills, valleys,
submarines, icebergs etc.?

A) Sound absorption B) Infrasound . .
MyEducationWire
C) SONAR D) MRI
Answer Key : C Your Response : C (Correct)

Question No. 43
T3t & 3 & WY AR T W BT @ N 3o gl 87
A) P SBIHTFASS B) 3fadrelel
C) grsgtar D) =gt

Which gas is typically produced when metal reacts with acids?

A) Carbon dioxide B) Oxygen
C) Hydrogen D) Nitrogen
Answer Key : C Your Response : C (Correct)

Question No. 44

ofe CD’[B:E g ar CDSB'S]_HB T ATl AT hITAT|
b cos 0 + sin 0



b/a a/b

C) D)

a2/b? (a-b)/(a+b)

cos B -smn O

a
If cot 6=—, thenfind —.
b cos ® +smn O

A) B)
b/a a/b
C) D)
a*/b? (a-b)a+h)
Answer Key : D Your Response : D (Correct)

Question No. 45
TF O & SO &Abd AN 3aaa & 3HifFd A ST §1 8 1 H-Ad AT Hifaw]
A) 16299 3BTS B) 5129 3®T
C) 216 93P D) 276 T3PS

A cube has numerically equal surface area and volume. Find the volume of the cube.



A) 162 cubic units B) 512 cubic units
C) 216 cubic units D) 276 cubic units

Answer Key : C Your Response : C (Correct)

Question No. 46

3 W A, Al FYA & a1 IR fasw§ Ru av §1 37 sy (forewsh) A 9o S aifde w7 &
T8 39gF g

Yol

1) w3®r |, wlfeaT# gl
2) 35 volfeed, =i §
3) qeir =idy, X

fassy:

.. ¥ R, wlfean &
. F& &, FT El
ll. & &, =T El
IV. 5 wdlfead &R E

A) Fad ey | 3R 11l 39gad g B) %hae sy Il 39ged g
C) %had foshy | AR IV 3ugad &1 D) had sy | 3R 1| 3ugad § |

In this question, three statements are given followed by four conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) All gold are platinum.

2) Some platinum are silver.
3) All silver are diamonds.

Conclusions:

|. Some diamonds are platinum.
Il. Some diamonds are gold.

lll. Some silver are gold.

IV. Some platinum are diamonds.

A) Only conclusions | and IlI follow B) Only conclusion Il follows



C) Only conclusions | and IV follow D) Only conclusions | and Il follow

Answer Key : C Your Response : C (Correct)

Question No. 47

P, Q 3R R, ¥.35000, ¥.45000 3iR %.55000 fA3er F& T ARG 7 99T FQ &1 $.40500
F afifies o & 3 Hard ear @ fifSw)

A) %.10500, %.13500, %.18500 B) %.10500, %.13500, ¥.19500

C) %.10500, %.13500, %.17500 D) %.10500, %.13500, %.16500

P, Q and R enter into a partnership investing Rs.35000, Rs.45000 and Rs.55000. Find their
respective share in the annual profit of Rs.40500.

A) Rs.10500, Rs.13500, Rs.18500 B) Rs.10500, Rs.13500, Rs.19500
C) Rs.10500, Rs.13500, Rs.17500 D) Rs.10500, Rs.13500, Rs.16500
Answer Key : D Your Response : D (Correct)

Question No. 48

AR sfag &, Y Wi & A1 @ J14r SATar ar?
A) SR B) SRRk
C) 3T D) §&R

In Indian history, who was also known as Alamgir?

A) Akbar B) Jahangir
C) Aurangzeb D) Babur
Answer Key : C Your Response : C (Correct)

Question No. 49

g (x - 1) 3R (x + 3), X2 + ax + b F IUAEUS §, a FAA: a 3R b F AR 77 FfT
A) -2,-3 B) 2,-3

C) 2,3 D) 2,3



If (x-1) and (x + 3) are the factors of x2 + ax + b, then find the values of 'a' and 'b' respectively.

A) -2,-3 B) 2,-3
C) -2,3 D) 2,3
Answer Key : B Your Response : B (Correct)

Question No. 50

IfE 53 » 13 =33, 39 «» 13 =26 3 74 » 26 = 50 &, ar 37 * 21 &7 AT AT FI
A) 29 B) 24

C) 43 D) 37

A) 29 B) 24
C) 43 D) 37
Answer Key : A Your Response : A (Correct)

Question No. 51

et T A A RT AT Fo B T A F QO FEm?
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SN : WSH 1 §¢ : ?
A) Hfss B) HUSl
C) fOr# D) &R

Which word will best complete the relationship given below?

Asphalt : Road :: Brick : ?
A) Fabric B) Cloth
C) Prism D) Wall

Answer Key : D Your Response : D (Correct)



Question No. 52

IYRAF T FRON F aN F Pff@a § & Fi9 @ FuT 76 82
A H 18 FaTeR T@H g & e 9@ B) SUH 18 dfaer dfFawt g § e amad

7 HeT a1 8|
HET 1B '
D) SHH 7 FEATER TAHHR dfFdadr gdr g,
C) sg9° 7 &fasr dfdaar g g o o9 St 39 &l S dar B
HET A

Which of the following statements about the modern periodic table is CORRECT?

A) It has 18 vertical columns known as B) It has 18 horizontal rows known as periods

groups

C) Ithas 7 horizontal rows known as groups D) It has 7 vertical columns known as periods

Answer Key : A Your Response : A (Correct)

Question No. 53
afe 31 RESR 2005 Fr Afrar a1, df 31 RHST 2009 Fr HeAl@ F HieT AT T grem?
B) T 4%dR
D) UfaR

A) YHAR
C) aar

If 31 December 2005 was a Saturday, then what day of the week will 31 December 2009 be?

A) Friday B) Thursday

C) Sunday D) Saturday
Answer Key : B Your Response : B (Correct)

Question No. 54

g HhfmT 3+ — -
141

2+

| =



1/12

13/49
Q) D)
3/13 48/13
e 1
Simplify: 3+
1+
2+1
4
A) B)
13/49 1/12
Q) D)
3/13 48/13

Answer Key : D Your Response : D (Correct)

Question No. 55

0125 &I IAT TE&AT & T H Hag HIfav]



125/999 119/993

C) D)

100/999 113/990

Express 0125 in rational form of number.

A) B)
125/999 119/993
) D)
100/999 113/990
Answer Key : A Your Response : A (Correct)

Question No. 56

ar HARIT A YOIl F AT (HCF) 1 |

Find the HCF of two consecutive even integers.



A) 1 B) 2
C) -1 D) 0

Answer Key : B Your Response : B (Correct)

Question No. 57

S dichoed F 1 #F 2 & 99 W Glea 1 # 4 & o9g W S ST § o iR g A
Hfaw?

A) 75% B) 50%

C) 100% D) 25%

What is the loss percent incurred when chocolates got at 2 for a rupee are sold at 4 for a

rupee?
A) 75% B) 50%
C) 100% D) 25%
Answer Key : B Your Response : B (Correct)

Question No. 58

2019 & fAIfaf@a & & e g7 4 & gefaa e
A) gurfiee AGSI B) S® 4l UTel
C) Tag TR D) S e

Who among the following was awarded with the Padma Shri in 20197

A) Budhaditya Mukherjee B) Bachendri Pal
C) Gautam Gambhir D) John Chambers
Answer Key : C Your Response : C (Correct)

Question No. 59

geTdl W HieT AT Th SaRA $ue 872

A) Tealgel B) PITal
C) 9NN D) ddhel



Which of these is a fossil fuel?
A) Alcohol
C) Biogas

Answer Key : B

MyEducationWire

B) Coal
D) Wood

Your Response : B (Correct)

Question No. 60

et 3 F FT 1 T gier 6 32

A) Ca(OH) -

C) NH 4OH

Which of the following is a weak base?
A) Ca(OH),

C) NH4OH

Answer Key : C

B) KOH

D) NaOH

B) KOH
D) NaOH

Your Response : C (Correct)

Question No. 61

frfaf@a & ¥ fraes Tey wEe J9X AT 7 g §?

A) ITSHbHIH
C) Hasaf

Which of the following is rich in dietary fibre?
A) Ice-cream

C) Noodles

Answer Key : D

B) &g §3
D) IF

B) White bread
D) Apples

Your Response : C (Wrong)

Question No. 62

Sofr &1 qot F



2, 3, 6, 15, 42, (.)

Complete the series.

2,3,6,15,42, (...)

Answer Key : B

e fFe e i wegfa Ao #2

A BYD

C) dATeTH

B) 123
D) 62

Your Response : B (Correct)

Question No. 63

B) YS!
D) 3ifzed

Thillana is one of the presentation styles of which dance form?

A) Kathak
C) Bharatanatyam

Answer Key : C

LA L 106 x 106 + 94 x 94
A) 20032

C) 23032

Simplify: 106 x 106 + 94 x 94
A) 20032

C) 23032

B) Kuchipudi
D) Odissi

Your Response : Not Answered

Question No. 64

B) 20072

D) 21032

B) 20072

D) 21032



Answer Key : B Your Response : B (Correct)

Question No. 65

gfe frer ffRaa gpesmr #, RAT = 40, CHAT = 33 &, df RETURN = ?
A) 88 B) 99

C) 84 D) 97

A) 88 B) 99
C) 84 D) 97
Answer Key : D Your Response : D (Correct)

Question No. 66

e fAREd gt A aF F@ F fav a@ qarr arr F el f@er 7 v v a3k g/
feRm & AT 31T FHT FT IFAT 4 : 1 &1 GRT H¥ 2 A 3N 4R & Q{uda R 7 aA@ H oA
HT I AT P

A) 4:1 B) 3:5

C) 1:4 D) 5:3

The ratio of the time taken to row a certain distance upstream to the time taken to go
downstream is 4 : 1. What is the ratio of the speed along stream to that upstream?

A) 4:1 B) 3:5
C) 1:4 D) 5:3
Answer Key : A Your Response : A (Correct)

Question No. 67

ffaf@d & @ P 1 v Fellg gier g2

A) Sdo B TR

C) THIRR D) AR

Which of the following is a leguminous plant?



A) Potato B) Cabbage
C) Tomato D) Pea

Answer Key : D Your Response : C (Wrong)

Question No. 68

3" Apid & 04 #, dA FHeaai@a AR & @ & Hew &t
Tafead o1 & fawfa &ar &l

A, AT, TS, HeFahl

o0 o
e

©

=
SER>

Choose the figure that best represents the relationship among the
classes given below.
Wheat, Grains. Onion, Maize

o0 O )
e

@ o =

<5



Answer Key : A Your Response : A (Correct)

Question No. 69
T3NTg, Aefaf@ad & ¥ fFa =g $r TaurEr 87

A) TaATEer weer B) gR=mom
C) dara 3R gRImom gt D) Ud

Chandigarh is the capital of which of the following states?

A) Himachal Pradesh B) Haryana
C) Both Punjab and Haryana D) Punjab
Answer Key : C Your Response : C (Correct)

Question No. 70

I AT '+ &, " A AT X & X AT Ao - R+ FrAdGags '+ §, A (5-8 x 6
+11)+9=7

A) 15 B) 12
C) 20 D) 5
If '+' means '+, '-' means 'X/, X' means -' and '+' means '+, then (6-8x6+11)+9=7?
A) 15 B) 12
C) 20 D) 5
Answer Key : D Your Response : D (Correct)

Question No. 71

ar HEATHT HT AFT 22 Bl Teh HEAT N G IAT qEY HEAT % 6 I F W/ gl 57 A=t A §
991 HEAT qd]

The sum of two numbers is 22. Five times of one number is equal to 6 times the other. Find the
larger of the two numbers.



Answer Key : D Your Response : D (Correct)

Question No. 72
i@ & ¥ #la ¥ ac@ A "Si" g g@rT ST AT 82
A) aIfsgH B) HeWw
C) dEr D) fafernist

Which of the following elements is represented by the symbol "Si"?

A) Sodium B) Sulphur
C) Silver D) Silicon
Answer Key : D Your Response : D (Correct)

Question No. 73

o9 ey W& % 8 I A 4 ST ST §, @ Wed GROmA 3 3 i gEw BIET WEAr gl g
qF HEAT AT §°?

C) 15 D) 12

When 8 times of a number is increased by 4, the result is the smallest 3 digit number. What is
the number?

A) 8 B) 10
C) 15 D) 12
Answer Key : D Your Response : D (Correct)

Question No. 74

THTG! YR T Tehgfg T 06T fFT S ), %.18500 F AR T 40% a1f¥w T T 18 #AE
I Thgle AT AT AT

A) ¥.15469 B) %.13468



C) %.16000 D) %.16280

If the interest is compounded half-yearly, find the Compound Interest on the sum of Rs.18500 at
the rate of 40% per annum for 18 months.

A) Rs.15469 B) Rs.13468
C) Rs.16000 D) Rs.16280
Answer Key : B Your Response : B (Correct)

Question No. 75

s ¥ TR Hiftewer o & QX &7
A) FTSHIERIT B) uREHT
C) el D) FUEHT
Which of these does NOT have an optical lens? MyEducationWi re
A) Microscope B) Periscope
C) Telescope D) Stethoscope
Answer Key : D Your Response : D (Correct)

Question No. 76

HaT #H, deal Fr & %A A cgafeya far arar B
A) RS H AT 3Taen B) arfder & fEex 3maelt
C) =&+ & "ed gu 3maat D) #A1f3e # dgd gu 3maelt

In a period, elements are arranged in the order of-

A) Equal charges in the nucleus B) Constant charges in the nucleus
C) Decreasing charges in the nucleus D) Increasing charges in the nucleus
Answer Key : D Your Response : D (Correct)

Question No. 77

R Y T & ¥ 59 a8 & g W &g &2




A) H B) TN
C) dredr D) TSR

On which of the following river banks is the city of Agra located?

A) Yamuna B) Ganga
C) Tapti D) Sabarmati
Answer Key : A Your Response : A (Correct)

Question No. 78
g ¥ FiT T BT TH O (29) QA G &7
A) RS B) T&Fder

C) HH D) faforasa

Which of these sports is NOT a board (table) game?

A) Chess B) Squash
C) Carrom D) Billiards
Answer Key : B Your Response : B (Correct)

Question No. 79

Aofr & qot Y

CJ, PU, ND, LG, (.)

Complete the series.

CJ, PU, ND, LG, (...)

A) KS B) W



C) RE D) JE

Answer Key : D Your Response : Not Answered

Question No. 80
e C 1 urpfas AT 3o & FieT AT 87
A) ARG B) Id
C) s D) A Il

Natural source of vitamin C is-

A) Guava B) Apple
C) Spinach D) All of the options
Answer Key : D Your Response : Not Answered

Question No. 81

Teh IEq Toh [A1ead Hed W a9 SAar gl 39K 58 38 $HHT & 607 W
=T AT, aF 35% Hr gty g gfgera ansr Far 272

A) B)
121% 81%
2 5]
C) D)
162% 15%
3

An article is sold at a certain price. Had it been sold at 60% of this
price, there would have been a loss of 35%. What is the percentage

profit now?



1,. 1_,
12=% ~9
5 8 3
C) D)
162% 15%
3
Answer Key : B Your Response : B (Correct)

Question No. 82

T 110 HAlex &l &7 fFly @ & 12 AFe F qR o o &1 o7 i Fdvee & e g
T

A) 33 RrsfvEer B) 27 fafi/eer

C) 30 frai/eer D) 49 fRevEer

A 110 m long train crosses a pole in 12 seconds. What is the speed of the train in km/h?

A) 33 km/h B) 27 km/h
C) 30 km/h D) 49 km/h
Answer Key : A Your Response : A (Correct)

Question No. 83

STel &IOT &7 H gaw 310 gdr g
A) Ydrelr Er (Sandy soil) B) fa&sir f&Er (Clayey soil)

C) oTer fAEr (Silty soil) D) §ds fAEr (Loamy soil)

Water holding capacity is the highest in-
A) Sandy soll B) Clayey soil

C) Silty soll D) Loamy soll



Answer Key : B Your Response : B (Correct)

Question No. 84

U fARed Hesmr &, 'MEDICAL' #t 'MEIDCAL' for@r Srer &1 39 Fesir 3 'POLICE’ &I &
forar srwm?

A) PCELIO B) POILCE

C) POCEIL D) ILCEPO

In a certain code, 'MEDICAL' is written as 'MEIDCAL'. How would 'POLICE' be written in that
code?

A) PCELIO B) POILCE
C) POCEIL D) ILCEPO
Answer Key : B Your Response : B (Correct)

Question No. 85

39 3 AT FT Tl TOT &her fhcterr gram, foraehr B, 154 a9 ey &awher arer goct Hr
Be=r fr 3mdt § 3t a5 sudhr e & e g7

A) 123 Hiex2 B) 312 Hiex2
C) 132Htex2 D) 231 W2

What is the total surface area of a solid cylinder whose radius is half the radius of a circle of

area 154 m? and height is the same as its radius?

A) 123 m? B) 312m?
C) 132m? D) 231 m?
Answer Key : D Your Response : B (Wrong)

Question No. 86

U foT AF WY, U 9 JIS A R 33 @7 A1 AR & IR Jq3 A7 AR 97 9 AR} g3
oo 39 3 f&em & 335 wr 87

A) TA B) afe&or
C) afaror gg D) gfaror ufegs




One day in the evening, an eagle was flying towards sun and turned left. Again it took left turn.
Which direction was the eagle flying now?

A) East B) South
C) South east D) South west
Answer Key : A Your Response : A (Correct)

Question No. 87

Rr=TTafRd Al ¥ e FER-AHE T BT MyEducationWire

MA, WO, OE, SI, YM
A) OE B) YM

C) WO D) Sl

Find the group of wrong alphabets in the following series.

MA, WO, OE, S|, YM

A) OE B) YM
C) WO D) SI
Answer Key : C Your Response : Not Answered

Question No. 88

FIEsieT & wAeATias, sgefaw g gl
A) T&H Fagid AR ar Wi B) U Solaclel 3N al #acley
C) VT ~ggld AR T giele D) TH Wil 3R Th Iy

The isotope deuterium of hydrogen has-
A) One neutron and two protons B) One electron and two neutrons
C) No neutrons and one proton D) One proton and one neutron

Answer Key : D Your Response : Not Answered



Question No. 89

ARG 7 S dTe Uge AR FieT A?
A) IR AAT B) heddT aTdel
C) IfQer Hegr D) gairar faferasa

Who was the first Indian to go into the space?

A) Rakesh Sharma B) Kalpana Chawla
C) Ravish Malhotra D) Sunita Williams
Answer Key : A Your Response : A (Correct)

Question No. 90

& TS HTT 7 fraw 79 &2

1]

11 10

Q) D)




How many squares are there in the given figure?

L[]

A B
) 11 ) 10
C) D)
14 12
Answer Key : C Your Response : C (Correct)

Question No. 91

AURUT ST 9 & 3¢ Tk Uy 3 asf & 815 3 4 asf & 2854 @ oy &, IR 79
fifow?

A) 698 B) X690

C) %650 D) 700

A sum of money at Simple Interest amounts to Rs.815 in 3 years and Rs.854 in 4 years. What

is the sum?
A) Rs.698 B) Rs.690
C) Rs.650 D) Rs.700
Answer Key : A Your Response : Not Answered

Question No. 92

ffaf@a # ¥ freet srdened 3o fagga wfoy giar ¢ 3R aRuwr & arr & #57 &6 &
fore 3qier fmar ST 872

A) "faer B) 3rtfarers




C) Tezymidt D) dIeidh

Which of the following has comparatively high electrical resistance and is used in the circuit to
reduce current?

A) Resistor B) Semi conductor
C) Insulator D) Conductor
Answer Key : A Your Response : A (Correct)

Question No. 93
FRI, gl R JEsiont F et 7 &5 = e I §7

A) gYUT F Fe IR T3h W 98} UH3 Yeld B) Rl & 3 3HG s H @axdl Dl dgH
FT & T F foT

C) ©YUT & FF F & foU D) argel &1 I gl & forw

Why are the tyres of the cars, trucks and bulldozers treaded?

A) To increase friction and to give a better B) The treads of the tyres are meant to add

grip to them on the road beauty to its design
C) To decrease the friction D) Toincrease the speed of the vehicle
Answer Key : A Your Response : A (Correct)

Question No. 94

T Y cos 5° + cos 24° + cos 175° + cos 204° + cos 300°

A -1/2 B) 0
C) 1 D) 1/2
Simplify:

cos 5° + cos 24° + cos 175° + cos 204° + cos 300°

A) -1/2 B) 0
C) 1 D) 1/2

Answer Key : D Your Response : Not Answered



Question No. 95

T & TN T IS AT FT {2 MyEducationWire
A) TI3IH grSsiFass B) 3HIIH grssiddIss
C) HeARTH grssiaarss D) HfovTe gssieass

What is the chemical name of limewater?

A) Sodium hydroxide B) Ammonium hydroxide
C) Magnesium hydroxide D) Calcium hydroxide
Answer Key : D Your Response : A (Wrong)

Question No. 96

dar 3opEit Hr afs Fa & IHTHAGITC BT §l
A) A HUSAT e B) <&
C) a9 3R g« akr D) @™

Kinetic energy of gas molecules is directly proportional to-

A) Atmospheric pressure B) Pressure
C) Both temperature and pressure D) Temperature
Answer Key : D Your Response : C

Question No. 97

ARl (Bacill) & Shary &, S T &l
A) DIHI D MHR B) ®eqHIl
C) Psfod 3R D) TATHR

Bacilli are bacteria which are-
A) Comma-shaped B) Rod-shaped

C) Spiral D) Spherical

(Wrong)

Answer Key : B Your Response : Not Answered




Question No. 98
3aReT F AT AT YgAT IR HiA AT AT?
A) ToafE 1 B) ¥=mE 1A
C) TFHCART 1 D) Jfgofr

Which was the first satellite to be sent into space?

A) Sputnik 1 B) Vanguard 1A
C) Explorer 1 D) Rohini
Answer Key : A Your Response : Not Answered

Question No. 99

Fler &1 Ao M U 7w e wF 7@ a@F & QT Fem?

8(246)3
3(213)7
3(272)5
A) 156 B) 615
C) 165 D) 516

Which of the following options will best complete the relationship given below?

8(246)3
3(213)7
3(27?)5
A) 156 B) 615
C) 165 D) 516

Answer Key : A Your Response : Not Answered



Question No. 100

U i FRT SAeTear A #

A) TsH B) CITWIRS
C) wferr D) Herlxam

is a sexually transmitted killer disease.

A) AIDS B) Typhoid
C) Jaundice D) Malaria
Answer Key : A Your Response : Not Answered
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